Déardaoin- 28U Bealtaine

Find The Missing 0peration®

Add the operation symbels: addition{ + ), subtraction( - |, multiplication( x ),
or division{ ) to complete the equation.

O 0 00

(30 1200 + 3 =13 (10 /5) + 1 =51

(25 | 12) - 8 =19 6 '6) - 6 =30

7 | 1) + 6 =24 5| /5) + 4 =5

(12 19) + 7 =10 (16 | J10) - 2 =24
.'f.-- - ™ I ~ - --.\'-

(43 21) + 6 =28 (24 112) + 45 =47

(56 | '8) + 40 = 47 (12 /5 + 8 =68
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English Version

Chance

’

The greengrocer has put 6 peppers into o brown poper bag:

2 ore ,3 are green ond 1 red. I | pick one out of the bag, @
it is more likely 10 be green as 3 of the 6 peppers ore green, Moer
The chance of picking a green is: o . c

3 chances out of 6 =2 or 1 chance out of 2 =+ ‘ ‘

The chance of picking o s The chance of picking o red is:
~2d!on:elouufe-°f ldm«hb-".'

or 1 chonce out of 3 'l'

Try this yourself with 6 counters or cubes in o bag (while blindfolded).

1. What are the chonces of 2. What is the probability of
picking o green cube? picking @ yeliow cube?
__outof ___ . __outof

3. Whar are the chances of &. What are the chonces of
picking o blue cube? picking @ y+liow cube?

out of out of

5. Whot are the chonces of 6. What are the chonces of
picking o blue cube? picking o red cube?

out of out of

7. What ore the chonces of B. Whot wre the chonces of
picking o green cube? picking o blue cube?
___outof ____outof
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